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Identify the domain and range of each.  Then sketch the graph.

	B������ � �B������ � ����

CB������ ����� DB������ �����

patter

Set-off

←

MAHAMA

A-

Keys
state egg intercepts .

Shift down 2

÷
I I •:/ ; •.•T→
-

164

255

DD :[ 0,00) R:[ 0,00) D :[0,00) R :C-2,00)

X - int (Ojo) y - intcqo)
x - int:(4,03 y -int

:( o , -2)

shift right 4 shift left 2

•.•T••/

D :[4,007 R :[0,00) D :[- 2,00) R :[ 0,00)

x-int:(4,0 ) y
-int : NONE x-int:C-2,0 ) y

-int :(0,52)

-02=5742
y
-
-if y

-

- rot
0=11-4

y=fy y=r2
4=X

y -_ Zisnoy-int
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cocotte

• reflect over x -axis • shift
• vertical stretch by 4

• Vertical stretch by2 UP 5
• Shift Right 3, down 3

D :[0,00) → y= 4573 - 3

R:C- 00,5]
- D:[3,00)

x-int :(64,0)
R : C- 3,00)

• 0=-25×+5 -
-5=-2Tx x - int (3%0)F(E)Eff) 0=45×-5-3•••ln→ ⇐5¥3511=254 9

•

Tf
= x - 3

X-- 62,
-

y -int :(
0,5) £+3 = X

3%=x

y -int
: NONE

D :[4,00) R :[0,00) • vertical shrink by}
• vertical stretch by 4 • sniff left I > down 's
• shift Right 4 >

x- int:(4,0) D: C-1,00)

y -int:
NONE R :[-5,00)

x -int:(99,0)
-

,

o-- ITH - s

5=125×4
" M•###→ IOI @+132

100 = Xt
I

99 Ix
-

y - int :( o ,
-4.5)

y -- trot - s

• Reflect over x-axis shift right 4 , down 't
• Vertical shrinkby'z

D :[4,00)
D :[ 0,00)

R : C-4,00)
R :( - 00,0]

y-int
: NONE

×-int:(0,07
×-int :(20,0)

y-int:(0,0
)

• 0=74-4
\=#→ •••# 4=5×-4

16 -_ x- 4

20 =x
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	CB������ � ���	 	DB������� �

	EB������ ���������
	FB������
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NESSLER

• Vertical stretchby}
• shift right 2.down I

• vertical stretch by 3

od

D :[0,00)of
• D :[2,00) ( E:{I:%o)for
.

R : C- 1,00) .

• y-int
: co,o)

x-int :(24,0) .

•

0=3TEE - I
•

• 13=72
↳ = x-2

Zt 'q=X

y-int :
NONE

• Shift down I • vertical stretch by 2

D :[ 0,00)
R :[0,00)

D :[0,00)
x-int :(1,0) •••/

"

R :[0,00)

#• y-int :(
0
,
- l) x -int :(0,0

)
•

• y-int
: COO)

• shift right 3 ,up4 . vertical shrink by E
0=7-3+4

• shift right I
-4=573

Possible
Nox-ing

9=73+4
not y= Fs

+4

D :[ 1,00)

R :[0,00)••f→
D :[3,00) x - int Cl , o)

R:[4,00) . y-
int : NONE

•••#>
X - int:NONE

y-int :
NONE
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	�B������ � ���� ��B����������� �����

top

• vertical shrink by } • shift right I , opt
•shift up 2

D :[ 1,00)

R :[1,00)

Bo

x-int : NONE.•.FD :[0,00)
•

y-int :
NONE

R :[2,00) •

x - int: NONE

y-int:(0,2
)

• shift up 5 ⇐ → y=
- FIE -2

• reflect over
x-axis←-

• shift left 2.down2•.T→ D :[0,00)

R:[5,00) D :[- 2,00)

R :C-00 , -2]

X- int : NONE

• . . . y - int :(
o
,
-2-R)

•

y=
-z-Ft

'

↳←→ y
-

• -
- 2- Fe


